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1. The standard form of HCI?  
HCI Gß£uß {ø»¯õÚ ÁiÁ® Gx? 

(A) Human-Control Interface  

 ²©ß Pßm÷μõÀ Cshº÷£ì   

(B) Humidity-Control Interface 

 ²ªimi Pßm÷μõÀ Cshº÷£ì   

(C) Human Computer Interface  
 ²©ß P®¨³mhº Cshº÷£ì   

(D) Human Conduct Interface 
 ²©ß PõßhUm Cshº÷£ì 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

2. ___________ is an example for (DCS) Distributed Control System. 
Â{÷¯õQUP¨£mh Pmk¨£õmk Aø©¨¦US __________ Gß£x J¸ 
GkzxUPõmk BS® 

(A) Emersion Delta V (B) Yokogawa centum 

 G©º\ß öhÀhõ Ã  ÷¯õ÷PõPõÁõ ö\ßm³® 

(C) Honeywell plantscape (D) All of the above 
 íÛöÁÀ ¤Íõßmì÷P¨  ÷©÷» TÔ¯ AøÚzx® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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3. The distributed control system is  
iìm›¨³hm Pßm÷μõÀ ]ìh® Gß£x 

(A) Process oriented (B) Object oriented 

 ¨μõ\ì \õº¢ux  B¨öáUm \õº¢ux 

(C) Data acquisition oriented (D) All of the above 
 ÷hmhõ BU³]åß \õº¢ux  ÷©÷» TÔ¯ AøÚzx® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

4. The Remote Telemetry unit contains ___________. 
›÷©õm öh¼ö©m› ²ÛmiÀ __________ EÒÍx 

(A) Power supply  
 £Áº \¨øÍ 

(B) Solar energy, transceivers 

 ÷\õ»õº GÚºâ, mμõßì^ÁºPÒ 

(C) Antenna 
 BsmöhÚõ  

(D) All of the above 
 ÷©÷» EÒÍ AøÚzx®   

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

5. Ethernet card, also known as ___________. 
Guºö|m Põºk __________ GßÖ® AøÇUP¨£kQÓx 

(A) NIC (B) MAS 

(C) HTT (D) TCP/IP  

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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6. Field bus depends on which one of the following input device 
Field bus  Gß£x ¤ßÁ¸® EÒÏmk \õuÚ[PÎÀ JßøÓ¨ ö£õÖzux 

(A) Sensor (B) Switches 

 ö\ß\õº  ìÂmaPÒ 

(C) Drives (D) Both (A) and (B) 
 iøμÆPÒ  (A) ©ØÖ®  (B) Cμsk® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

7. Modbus is the ___________ of protocol. 
Modbus Gß£x __________ ö|Ô•øÓPÎÀ JßÓõS® 

(A) Grandmother (B) Granddaddy 

 Uμõsk ©uº  Uμõsk hõi 

(C) RTU’S (D) MAC 

 (E) Answer not known 
 Âøh öu›¯ÂÀø» 

8. MODBUS can operate on only ___________. 
MODBUS  __________ À ©mk÷©  ö\¯À£h •i²® 

 (A) 1 Master device per network  

 J¸ ö|möÁõºUQØS J¸ ©õìhº \õuÚ®   

(B) Multiple master per network 

 J¸ ö|möÁõºUQØS £» ©õìhº \õuÚ®   

(C) Real time network  
 ›¯À øh® ö|möÁõºU   

(D) RTU  

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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9. Time required for a message to travel from one device to another is
known as ___________. 
J¸ ö\´v JßÔ¼¸¢x ©ØöÓõßÔØS £¯oUP ÷uøÁ¨£k® ÷|μ® 

__________ GÚ AÔ¯¨£kQÓx 

(A) Transit time (B) Dialogue time 

 mμõß]m øh®  øh¯»õU øh® 

(C) Response time (D) Wait time 
 öμì£õßì øh®  öÁ°m øh® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

10. How many types of Gateway are used in Network device? 
GzuøÚ ÁøP¯õÚ ÷Pm÷Á BÚx ö|möÁõºU \õuÚ[PÎÀ EÒÍÚ 

(A) 2 (B) 3 

(C) 4 (D) 5 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

11. MAC stands for ___________. 
MAC Gß£uß Â›ÁõUP® GßÚ? 

(A) Media Access Control (B) Media Active Control 

 «i¯õ Aéì Pßm÷μõÀ  «i¯õ BUiÆ Pßm÷μõÀ 

(C) Multi Access Control (D) Maximum Area Control 
 ©Ài Aéì Pßm÷μõÀ  ÷©Uê©® H›¯õ Pßm÷μõÀ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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12. ___________ specifies a star topology featuring a central hub and
unshielded twisted-pair wire as the medium. 
––––––––– J¸ ø©¯ í¨¦®, AßçÀhm mÂìhm L÷£º Á¯¸® 
|kzuμ©õP öPõsh ìhõº ÷hõ¨£õ»âø¯U SÔUQÓx. 

(A) 10 Base 2 (B) 10 Base 5 

(C) 10 Base T (D) 10 Base 8 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

13. ___________ protocol layer uses the protocols WWW, HTTP, FTP,
SMTP and e-mail etc. 
––––––––– ÷»¯º ¨÷μõ÷hõPõÀ WWW, HTTP, FTP, SMTP ©ØÖ® 
Cö©°À ÷£õßÓ ö|Ô•øÓPøÍ £¯ß£kzxQßÓx. 

(A) Application Layer Protocol  

 A¨Î÷Påß ÷»¯º ¨÷μõ÷hõPõÀ  

(B) Transport Layer Protocol 
 iμõßì÷£õºm ÷»¯º ¨÷μõ÷hõPõÀ 

(C) Internet Layer Protocol  
 Cshºö|m ÷»¯º ¨÷μõ÷hõUPõÀ 

(D) Hardware Layer 
 Áßö£õ¸Ò ÷»¯º 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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14. ___________ is a collection of point to point links that may form a
circle. 
––––––––– Gß£x J¸ ÁøÍ¯zøu E¸ÁõUP Ti¯ £õ°sm k £õ°sm 
Cøn¨¦PÎß öuõS¨£õS®. 

(A) Bus topology (B) Branch topology 

 £ì ÷hõ¨÷£õ»â  ¤μõßa ÷hõ¨÷£õ»â 

(C) Star topology (D) Ring topology 
 ìhõº ÷hõ¨÷£õ»â  ›[ ÷hõ¨÷£õ»â 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

15. A ___________ is a set of rules governing data communication
between two devices. 
J¸ ––––––––– Gß£x Cμsk \õuÚ[PÐUS Cøh÷¯¯õÚ uμÄ uPÁÀ 
öuõhºø£ Pmk¨£kzx® ÂvPÎß öuõS¨£õS®. 

(A) Message (B) Protocol 

 ö©ì÷\ä  ¨÷μõ÷hõPõÀ 

(C) Mediator (D) Sender 
 «i÷¯mhº  ö\shº 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

16. Crimping tool is used to connect ___________ cables for crucial work.
•UQ¯©õÚ ÷Áø»UPõP ––––––––– ÷P¤ÒPøÍ CønUP Q›®¤[ P¸Â 
£¯ß£kzu¨£kQÓx. 

(A) RJ 11 - Phone cable (B) NIC 

 RJ 11 - ÷£õß ÷P¤Ò  NIC 

(C) Ethernet (D) All of these 
 Duºö|m  AøÚzx® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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17. Arrange the correct answer. 
\›¯õÚ £vø» ÷uº¢öukzx GÊxP. 
(1) RG-8 and RG-11 50 ohms (i) Cable TV 
(2) RG-58, 50 ohms   (ii) ARC net 
(3) RG-59, 75 ohms   (iii) Thick Ethernet 
(4) RG-62, 93 ohms   (iv) Thin Ethernet 

 (1) (2) (3) (4) 
(A) (iii) (iv) (i) (ii)    
(B) (ii) (iii) (i) (iv)     
(C) (i) (iv) (ii) (iii)    
(D) (ii) (iv) (iii) (i)    
(E) Answer not known 
 Âøh öu›¯ÂÀø» 

18. ___________ is commonly used as telecommunications cable. 
––––––––– ö£õxÁõP öuõø» öuõhº¦ ÷P¤ÒPÍõP £¯ß£kzu¨£kQÓx. 

(A) Twisted pair to pair cable  

 kÂìhm L÷£º k L÷£º ÷P¤Ò   

(B) Twisted pair cable 

 kÂìhm L÷£º ÷P¤Ò  

(C) Unshielded pair cable  
 AsçÀhm L÷£º ÷P¤Ò   

(D) Unshielded twisted pair cable 
 AsçÀhm kÂìhm L÷£º ÷P¤Ò 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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19. ___________ primarily three categories of network in world used. 
––––––––– E»QÀ EÒÍ ö|möÁõºUQÀ 3 •ußø©¯õP 
£¯ß£kzu¨£kQßÓÚ. 

(A) LAN, MAN, WAN (B) LAN, CAN, WAN 

(C) HAN, LAN, WAN (D) CAN, HAN, WAN 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

20. A Network is a group of computers that can communicate with each
other to ___________. 
ö|möÁõºU Gß£x PoÛPÎß SÊÁõS® AøÁ JßÖhß JßÖ öuõhº¦ 
öPõÒÍ •i²®. 

(A) Share Information (B) Communication 

 uPÁÀPøÍ¨ £QºuÀ  öuõhº¦ 

(C) Connection (D) Application 
 Cøn¨¦  Âsn¨£® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

21. ___________ is defined at the change of voltage or current or any
other electrical quantity per unit of time. 
–––––––––––––– J¸ ²Ûm ÷|μzvØS ªßÚÊzu® AÀ»x ªß÷Úõmh® 
AÀ»x ÷ÁÖ H÷uÝ® ªß AÍÄ ©õØÓzvÀ Áøμ¯ÖUP¨£kQÓx. 

(A) Rise time (B) Slow rate 

 GÊa] ÷|μ®  CÊøÁ Ãu® 

(C) Delay time (D) Phase response 
 uõ©u ÷|μ®  Pmh £vÀ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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22. ___________ is defined as the ability of a device or a system to
respond to a true value of a measured variable under reference
conditions. 
–––––––––––––– Gß£x J¸ \õuÚ® AÀ»x J¸ Aø©¨¤ß vÓÚõÚx 
SÔ¨¦ {ø»ø©PÎß RÌ AÍÂh¨£mh ©õÔ°ß Esø©¯õÚ ©v¨¤ØS 
£v»ÎUS® vÓß BS®. 

(A) Regulation  

 wº©õÚ® (AÀ»x) ¤›zuÀ 

(B) True value 

 Esø© ©v¨¦  

(C) Accuracy  
 xÀ¼¯® 

(D) Repeatability 
 «sk® «sk® ö\´¯UTi¯ ußø©   

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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23. Match the following  : 
¤ßÁ¸ÁÚÁØøÓ ö£õ¸zxP : 
(1) Length — Pound   
 }Í®   £Äsm 
(2) Mass — Foot   
 {øÓ  Ai    
(3) Light intensity — Kelvin   
 JÎ°ß wÂμ®  öPÀÂß  
(4) Temperature — Candela   
 öÁ¨£{ø»  ÷Psi»õ  
(A) (2) (1) (4) (3)    
(B) (1) (2) (3) (4)     
(C) (4) (3) (2) (1)    
(D) (1) (3) (2) (4)    
(E) Answer not known 
 Âøh öu›¯ÂÀø» 

24. A quantity whose magnitude has definite repeating time cycle is
called 
SÔ¨¤mh AÍÄ «sk® «sk® ÷|μa _ÇØ]ø¯U öPõsh J¸ AÍÄ 
–––––––––––––– GÚ AøÇUP¨£kQÓx.  

(A) Steady state periodic (B) Steady state aperiodic 

 {ø»¯õÚ {ø» Põ»•øÓ  {ø»¯õÚ {ø» A¨¥›¯õiU 

(C) Transient (D) Transient state periodic 
 {ø»¯ØÓ  {ø»¯ØÓ {ø» Põ»•øÓ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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25. Limiting error are 
Pmk¨£kzx® ¤øÇ Gß£x 

(A) Manufacturer’s specification of accuracy  

 xÀ¼¯©õÚ EØ£zv¯õÍ›ß ÂÁμSÔ¨¦   

(B) Manufacturer’s specification of instrumental error 

 xÀ¼¯©õÚ EØ£zv¯õÍ›ß ÂÁμSÔ¨¤ß ¤øÇ   

(C) Environmental errors  
 _ØÖ`Ç»õÀ HØ£k® ¤øÇ   

(D) Random errors 
 ^μØÓ ¤øÇ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

26. 1 bar equals to ___________ pascal. 
1 £õº –––––––––––––– £õìP¾US \©®. 

(A) 310  (B) 510  

(C) 310−  (D) 510−  

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

27. ___________ helps to know the speed of the vehicle. 
–––––––––––––– ÁõPÚzvß ÷ÁPzøu AÔ¯ EuÄQÓx. 

(A) Speedometer (B) Voltmeter 

 ÷ÁP©õÛ  ÷ÁõÀm «mhº 

(C) Lactometer (D) Energy meter 
 »õU÷hõ «mhº  GÚºâ «mhº 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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28. ___________ instrument used for measuring atmospheric pressure. 
ÁÎ©sh» AÊzuzøu AÍÂh £¯ß£k® P¸Â. 

(A) Manometer (B) Pressure switch 

 ÷©÷Úõ«mhº  ¤μåº _Âma 

(C) Pressure gauge (D) Aneroid Barometer 
 ¤μåº ÷Pä  AÛμõ´k PõØÓÊzu©õÛ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

29. The SI unit for the measurement of pressure? 
AÊzuzøu AÍÂkÁuØPõÚ  SI A»S? 

(A) Newton (B) Joule 

 {³mhß  áüÀ 

(C) Kilogram (D) Pascal 
 Q÷»õQμõ®  £õìPÀ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

30. The most commonly used strain gauge 
ªPÄ® ö£õxÁõP £¯ß£kzu¨£k® ìmöμ´ß ÷Pä? 

(A) Mechanical strain gauge  

 ö©UPõÛUPÀ ìmöμ´ß ÷Pä 

(B) Optical strain gauge 

 B¨iPÀ ìmöμ´ß ÷Pä  

(C) Electrical strain gauge  
 G»Um›PÀ ìmöμ´ß ÷Pä 

(D) Electronic strain gauge 
 G»UmμõÛU ìmöμ´ß ÷Pä   

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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31. A Manometer is a device used to measure ___________. 
÷©÷Úõ«mhº Gß£x –––––––––– AÍÂh £¯ß£k® J¸ P¸Â. 

(A) Height (B) Pressure 

 E¯μ®  AÊzu® 

(C) Liquid Density (D) Atmospheric Pressure 
 vμÁ Ahºzv  ÁÎ©sh AÊzu® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

32. A Dead Weight Tester is commonly used ___________. 
öhm öÁ°m öhìhº ö£õxÁõP –––––––––– £¯ß£kzu¨£kQÓx. 

(A) High pressure  

 E¯º AÊzu®   

(B) Accurate measurement of loads 

 ÷»õøh xÀ¼¯©õP AÍÂh   

(C) Testing magnitude of the given weight  
 öPõkUP¨£mh Gøh°ß AÍøÁ ÷\õuøÚ ö\´ÁuØS   

(D) Calibrate other pressure measuring device 
 ©ØÓ ¤μåº AÍÃk® \õuÚzøu AÍÄ v¸zu® ö\´¯ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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33. A Dead weight pressure gauge works on ___________ principle. 
J¸ öhm öÁ°m ¤μåº ÷Pä –––––––––– uzxÁzvÀ ö\¯À£kQÓx. 

(A) D’Arsonval (B) Abbe’s 

 D’Aº÷\õßÁÀ  A¨÷£ì 

(C) Pascal Law’s (D) D’Alembert’s 
 £õìP¼ß Âv  i’A÷»®ö£ºmì 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

34. The following is not unit of pressure measurement 
¤ßÁ¸ÁÚ AÊzuzvß A»S CÀø» 

(A) PSI (B) mm of Hg 

 PSI  mm of Hg 

(C) BAR (D) N/m 
 BAR (£õº)  N/m 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

35. Air cored inductive transducer are suitable for use 
Hº ÷Põº yshÀ iμõßìi³\º £¯ß£kzu HØÓx 

(A) at lower frequency  

 SøÓ¢u AvºöÁs   

(B) at higher frequency 

 E¯º AvºöÁs   

(C) at equal frequency  
 \©{ø» AvºöÁs   

(D) as are employed for iron cored transducer 
 C¸®¦ ÷Põº iμõßìi³ì\º £¯ß£kQÓx 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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36. The best suited for measuring very high pressure  
ªP AvP AÊzuzøu AÍÂk® ]Ó¢u ö£õ¸zu©õÚ P¸Â 

(A) Bellow gauge (B) Diaphragm pressure gauge 

 ö£À÷»õ ÷Pä  h¯õL¤μ® ¤μì\º ÷Pä 

(C) Vacuum gauge (D) Piston gauge 
 öÁØÔh ÷Pä  ¤ìhß ÷Pä 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

37. The common methods used for calibrating pressure gauge 
¤μåº ÷Pøá AÍÄ v¸zu® ö\´¯ ö£õxÁõP £¯ß£k® •øÓ 

(A) Hydraulic dead weight testers digital indicator and analog 
gauge  

 øímμõ¼U öhm øÁmk öhìhº, iâmhÀ CsiU÷Pmhº ©ØÖ® 
AÚ»õU ÷Pä   

(B) Sight glass, pressure relief valve 

 ø\m QÍõì, ¤μ\º ›¼L¨ ÁõÀÄ   

(C) Temperature, Sensors, RYDS  
 öh®£÷μa\º, ö\ß\õº, RYDS    

(D) Flow sensors 
 L¦÷Íõ ö\ß\õº 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

38. The SI unit thermal conductivity is 
Gì.I A»S öuº©À PshUiÂmi°ß vÓß 

(A) 12KWm −−  (B) 1WmK  

(C) 11KWm −−  (D) WmK  

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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39. The following is an example of an active transducer 
¤ßÁ¸ÁÚÁØÔÀ BUiÆ iμõßìi³\º–US Euõμn® 

(A) Strain gauge (B) LVDT 

 ìmöμ°ß ÷Pä  LVDT 

(C) Thermistor (D) Piezoelectric 
 öuºªìhº  ¤²÷\õG»Um›U 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

40. The purpose of a glycerin-filled pressure gauge 
QÎ\›ß {μ¨£mh AÊzuzvß ÷|õUP® 

(A) To reduce the effect of temperature changes on the gauge 
reading  

 ÷Pä Ÿi[QÀ öÁ¨£{ø» ©õØÓ[PÎß ÂøÍÄPøÍ SøÓ¨£uØS 

(B) To increase the accuracy of the gauge reading 

 ÷Pä Ÿi[QÀ xÀ¼¯zøu AvP›UPÄ®   

(C) To protect the gauge from damage due to vibration or 
pulsation 

 AvºÄ AÀ»x xi¨¦ Põμn©õP HØ£k® ÷\uzv¼¸¢x ÷Pä 
£õxPõUPÄ®   

(D) To improve the visibility of the gauge reading 
 ÷Pä Ÿi[Qß öuÎÄ {ø»ø¯ ÷©®£kzu 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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41. The pressure in Pascals at a depth of 1 m below the free surface of a 
body of water will be equal to 
J¸ }º {ø»°ß uøh¯ØÓ ÷©Ø£μ¨¦US R÷Ç 1 m BÇzvÀ £õìP¼À 
EÒÍ AÊzu® –––––––––– US \©©õP C¸US® 

(A) 1 Pa (B) 91 Pa 

(C) 981 Pa (D) 9810 Pa 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

42. In industrial application hydraulic fluid have viscosity grade 
ranging from 
öuõÈÀxøÓ £¯ß£õkPÎÀ øímμõ¼U vμÁ[PÒ ÂìPõì]mi°ß uμ® 

(A) 20-50 (B) 15-44 

(C) 70-95 (D) 46-68 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

43. The advantage of using a single acting cylinder 
][QÀ BUi[ ]¼shº £¯ß£kzxÁuß |ßø©PÒ GßÚ? 

(A) High cost and reliable  

 AvP ö\»Ä ©ØÖ® |®£Pzußø© 

(B) Honing inside the inner surface of the pump is not required 

 £®¤ß Em¦Ó ÷©Ø£μ¨¦USÒ íõÛ[ ÷uøÁ°Àø»   

(C) Piston seal are not required   
 ¤ìhß ^Àk ö\´¯ ÷uøÁ°Àø»   

(D) High liner motion 
 E¯º ø»Úº C¯UP® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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44. Which among the following fluid parameter are not controlled by the
control valve? 
¤ßÁ¸® vμÁ AÍÄ¸UPÎÀ Gx Pmk¨£õmk ÁõÀÄPÍõÀ 
Pmk¨£kzu¨£hÂÀø» 

(A) Pressure (B) Rate of flow 

 AÊzu®  Kmh ÂQu® 

(C) Speed (D) Directional valve 
 ÷ÁP®  Kmhzvß vø\ ÁõÀÄ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

45. The reciprocal of bulk modulus of elasticity is called 
ö|QÌÄzußø©ø¯ ö©õzu ©õk»êß uø»URÌ (Reciprocal) 
AøÇUP¨£kÁx 

(A) Capillarity (B) Viscosity 

 PL¦»›mi  ÂìPõêmi 

(C) Compressibility (D) Vapour pressure 
 P®¤μìé¤¼mi  ÷Á¨£º ¤μì\º 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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46. Bernoulli’s equation assumes that 
ö£º÷Úõ¼°ß \©ß£õk CÆÁõÖ P¸u¨£kQÓx 

(A) Flow in steady 
 vμÁ Kmh® {ø»¯õÚx 

(B) Flow in low level 

 vμÁ KmhzvÀ ö»ÁÀ SøÓÄ 

(C) Flow in irregular 
 vμÁ Kmh® JÊ[PØÓ•øÓ 

(D) Flow in noise 
 vμÁ KmhzvÀ \zu® HØ£kÁx 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

47. ___________ is defined as the ratio of weight of a fluid to its volume. 
J¸ vμÁzvß GøhUS® Auß AÍÂØS® EÒÍ ÂQu©õP 
Áøμ¯ÖUP¨£kQÓx. 

(A) Surface tension (B) Specific gravity 

 \º÷£ì öhß\ß  SÔ¨¤mh Dº¨¦ 

(C) Specific weight (D) Density 
 SÔ¨¤mh Gøh  Ahºzv 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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48. In potentiometry which of the following is considered the stand
electrode? 
ö£õmöhßæ÷¯õö©m›°À ¤ßÁ¸ÁÚÁØÔÀ Gx {ø»¯õÚ 
ªß•øÚ¯õP P¸u¨£kQÓx? 

(A) Calcium electrode (B) Hydrogen electrode 

 PõÀ]¯® ªß•øÚ  øímμáß ªß•øÚ 

(C) Potassium electrode (D) Copper electrode 
 ö£õmhõ]¯® ªß•øÚ  Põ¨£º ªß•øÚ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

49. The SI unit of conductivity is ___________. 
PhzxzvÓÛß SI A»S 

(A) Meter (B) Ohm meter 

 «mhº  K® «mhº 

(C) Ohm (D) 1/(ohm - meter) 
 K®  1/(K® & «mhº) 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

50. The following of bridges are used in dissolved oxygen analyser 
¤ßÁ¸® ¨¤›ä Pøμ¢u BUêáß £S¨£õ´ÂÀ £¯ß£kzu¨£kQßÓÚ 

(A) Kelvin’s bridge (B) Wheatstone bridge 

 öPÀÂß ¨¤›ä  Ãmì÷hõß ¨¤›ä 

(C) Schering bridge (D) Anderson’s bridge 
 öå›[ ¨¤›ä  Bshº\ß ¨¤›ä 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 



   439-INSTRUMENT MECHANIC 
  [Turn over 

23

51. The pH value of saliva after meal? 
\õ¨¤mh ¤ÓS EªÌ}›ß pH ©v¨¦?  

(A) 4.8 (B) 5.8 

 4.8  5.8 

(C) 6.8 (D) Less than 4 
 6.8  4&ø¯ Âh SøÓÄ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

52. The Resistance of the solution (R) can be calculated using
___________ law. 
Pøμ\¼ß (R) Gvº¨ø£ Cøu¨ £¯ß£kzv PnUQh»õ®. 

(A) Kirchoff’s law (B) Ohm’s law 

 Qºa\õL¨ì Âv  Kªß Âv 

(C) Pascal’s law (D) Weins’ law 
 £õìP¼ß Âv  øÁ°Ûß Âv 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

53. Pressure regulators are also known as 
¤μåº öμS÷»mhºPÒ CÆÁõÖ AøÇUP¨£kQßÓÚ 

(A) Pilot reducing vane (B) Pressure reducing valves 

 ø£»m öμi³][ ÷Áß  ¤μåº öμi³][ ÁõÀÄPÒ 

(C) Pressure releasing vane (D) Pressure releasing valves 
 ¤μåº ›½ê[ ÷Áß  ¤μåº ›½ê[ ÁõÀÄPÒ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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54. Cavitation in a control valve is caused by 
SÈÄÖuÀ Gß£x J¸ Pmk¨£õmk ÁõÀÄ Põμn©õP HØ£kQÓx 

(A) process noise (B) vibration in the piping 

 ¨μõ\ì |õ´ì  ø£¨¤À HØ£k® AvºÄ 

(C) a laminar flow regime (D) pressure recovery 
 J¸ ÷»ªÚõº Kmh® BÐuÀ  AÊzu «m¦ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

55. The following is a energy transfer element of pneumatic system 
¤ßÁ¸ÁÚÁØÔÀ Gx {²÷©miU Aø©¨¤ß BØÓÀ £›©õØÓ EÖ¨¦? 

(A) High pressure air (B) High pressure liquid 

 E¯º AÊzu PõØÖ  E¯º AÊzu vμÁ® 

(C) Electrical motor (D) Valve positioner 
 ªß\õμ ÷©õmhõº  ÁõÀÄ ö£õêèÚº 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

56. The following pneumatic cylinders operates on double end of the
piston 
¤ßÁ¸® {²÷©iU ]¼shºPÎÀ Gx ¤ìhÛß Cμmøh •øÚ°À 
C¯[SQÓx? 

(A) Single acting (B) Double acting 

 ][QÒ BUi[  h¦Ò BUi[ 

(C) DCV (D) All of these 
 DCV  CøÁ AøÚzx® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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57. The following component is used to drive the compressors 
P®¨μéøμ C¯UP ¤ßÁ¸ÁÚÁØÔÀ JßÖ £¯ß£kzu¨£kQÓx?  

(A) Air tank (B) Compressor 

 Hº ÷h[U  P®¨μéº 

(C) Electric motor (D) All of the above 
 G»Um›U ÷©õmhõº  CøÁ AøÚzx® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

58. The maintenance is easier and quicker 
£μõ©›¨¦ GÎuõÚx ©ØÖ® ÂøμÁõÚx 

(A) Hydraulic system (B) Pneumatic system 

 øímμõ¼U Aø©¨¦  {²÷©miU Aø©¨¦ 

(C) Both (A) and (B) (D) Manual system 
 (A) ©ØÖ® (B) Cμsk®  ÷©ÝÁÀ Aø©¨¦ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

59. Boyle’s law is valid only for 
£õ°Àì Âv CuØS ©mk÷© ö\À¾£i¯õS® 

(A) Non-ideal gases (B) Ideal gases 

 |õß&Ii¯À Áõ²UPÒ  Ii¯À Áõ²UPÒ 

(C) Light gases (D) Heavy gases 
 ÷»\õÚ Áõ²UPÒ  PÚ©õÚ Áõ²UPÒ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 



439-INSTRUMENT MECHANIC 26

60. The power source in pneumatic system is 
{²÷©iU ]ìhzvß \Uv Buõμ® Gx? 

(A) Air receiver (B) Compressor 

 PõØÖ ö£ÖuÀ  P®¨μéº 

(C) Valve (D) Muffler 
 ÁõÀÆ  ©¨»º 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

61. ___________ is a continuous indication of liquid level within a tank
or vessel. 
–––––––––– J¸ öuõmi AÀ»x £õzvμzvÀ EÒÍ vμÁzvß öuõhºa]¯õÚ 
{ø» AÍÃmk •øÓ Põmk®. 

(A) Sight glass (B) Air purge 

 ø\m QÍõì  PõØÖ _zvP›¨¦ 

(C) Liquid purge (D) Air bellow 
 vμÁ _zvP›¨¦  PõØÖ ©oPÒ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

62. Torque tube displacer type level detector mounted on vessels (or)
tank can be 
•ÖUS SÇõ´ {ø» PshÔuÀ ÁøP {ø»Põmi öÁ\À AÀ»x öuõmi°À 
G[÷P ö£õ¸zu£h»õ®. 

(A) internal (B) external 

 EÒ÷Í  öÁÎ÷¯ 

(C) internal and external (D) far away 
 EÒ÷Í ©ØÖ® öÁÎ÷¯  öuõø» yμzvÀ  

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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63. Transparent level gauges ___________ material used. 
öÁÎ¨£øh¯õÚ {ø» ÷PäâÀ –––––––––– ö£õ¸Ò £¯ß£kzu¨£kQÓx. 

(A) Mica sheet (B) Plastic 

 ø©UPõ uõÒ  ¤ÍõìiU 

(C) Glass (D) Metal 
 Psnõi  E÷»õP® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

64. Float type level gauge translate liquid level into readable
measurements by 
ªuøÁ ÁøP ö»ÁÀ ÷PäâÀ vμÁ AÍøÁ¨ £iUPTi¯ AÍÃhõP 
©õØÖÁx GuÚõÀ 

(A) using prisms (B) magnetic coupling 

 ¨›é® £¯ß£kzv  Põ¢u Cøn¨¦ 

(C) float movement (D) light reflection 
 ªuøÁ C¯UP®  JÎ ¤μv£¼¨¦  

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

65. Float displacer type level measurement employed weight the floats
its converts ___________. 
¨÷Íõm iì¨÷Í\º ÁøP {ø» AÍÃk ªuøÁ°ß Gøhø¯ GuõP 
©õØÖQÓx. 

(A) weight into tank level (B) weight into vessel level 

 öuõmi°ß Gøh AÍÄ  öÁ\À (vessel) Gøh AÍÄ 

(C) weight into displacer (D) weight into liquid level 
 iì¤÷Í\›ß Gøh AÍÄ   vμÁzvß Gøh AÍÄ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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66. Liquids have  
vμÁ[PÒ Gß£x  

(A) Fixed volume but no fixed shape  

 {ø»¯õÚ £¸© AÍÄ BÚõÀ {ø»¯õÚ ÁiÁ® CÀø»   

(B) Variable volume but fixed shape 
 ÷Á›¯¤Ò £¸© AÍÄ BÚõÀ {ø»¯õÚ ÁiÁ®  
(C) Fixed volume but fixed shape  
 {ø»¯õÚ £¸© AÍÄ BÚõÀ {ø»¯õÚ ÁiÁ®  

(D) All of the above 
 CøÁ AøÚzx® 
(E) Answer not known 
 Âøh öu›¯ÂÀø» 

67. Direct level measurement method is 
÷|μi {ø» AÍÃmk •øÓ 

(A) Air trap method (B) Float level gauge 

 PõØÖ ö£õÔ •øÓ  ªuøÁ {ø» AÍÃk 

(C) Diapharm box method (D) Ultrasonic method 
 h¯õ£õº® £õUì •øÓ  AÀmμõ÷\õÛU •øÓ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

68. ___________ is indirect level measurement device. 
©øÓ•P AÍÃmk \õuÚ® Gß£x 

(A) Sight glass  

 ø\m QÍõì   

(B) Rheostat operated by a float 

 J¸ ªuøÁ ‰»® C¯UP¨£k® ›÷¯õìhõm    

(C) Hydrostatic pressure devices for open tanks  
 vÓ¢u öuõmiPÐUPõÚ øím÷μõì÷hiU  AÊzu® \õuÚ®  

(D) All of these 
 CøÁ AøÚzx® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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69. Inductive level switches are 
CßhUiÆ ö»ÁÀ _Âm\ì Gß£x 

(A) Contact switch (B) Non-contact switch 

 PõßhõUm _Âma  |õß&PõßhõUm _Âma 

(C) Mercury level switch (D) Float switch 
 ö©ºS› ö»ÁÀ _Âma  ¦÷»õm _Âma 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

70. Time of reflection method used for laser level measurement for
purpose of 
÷|μ® ¤μv£¼¨¦ •øÓ°À ÷»\º {ø» AÍÃmk •øÓø¯ 
£¯ß£kzxÁuØPõÚ ÷|õUP® 

(A) Short distance measurement  

 SÖQ¯ yμ AÍÂh   

(B) Long distance measurement 

 }sh yμ AÍÂh   

(C) Within tank measurement  
 öuõmiUSÒ AÍÂh   

(D) Outside of tank measurement 
 öuõmiUS öÁÎ÷¯ AÍÂh 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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71. Capacitance level sensor is 
öPõÒÍÍÄ {ø» ö\ß\õº Gß£x 

(A) Die electric conductive plates (B) Single electric plates 

 ªß Phzuõu umk  JØøÓ ªß\õμ umk 

(C) Pressure conductivity plates (D) Tri electric plates 
 AÊzuzøu Phzx® umk  ‰ßÖ ªß\õμ umk 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

72. Time of reflection method measurement used on ___________. 
¤μv£¼¨¤ß ÷|μ® •øÓø¯ AÍÂk® AÍÃmk •øÓ 

(A) Radiation level measurement  

 PvºÃa_ {ø» AÍÃmk •øÓ   

(B) Microwave level measurement 

 ~snø» {ø» AÍÃmk •øÓ   

(C) Laser level measurement  
 ÷»\º {ø» AÍÃmk •øÓ   

(D) Optical level measurement 
 JÎ°¯À {ø» AÍÃmk •øÓ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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73. The level of solid measurement in a tank ___________ ray absorption 
method. 
öuõmi°À EÒÍ vh¨ö£õ¸Ò {ø» AÍÃmk •øÓ°À ___________
PvºÃa_ EÔg\¨£kQÓx. 

(A) Alpha (B) Gamma 

 BÀ£õ  Põ©õ 

(C) Beta (D) Infrared 
 ¥mhõ  APa]Á¨¦ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

74. Ultrasonic type level transmitter working principle 
«ö¯õ¼ ÁøP iμõßì«mhº ÷Áø» ö\´²® öPõÒøP 

(A) Magnet coupling (B) Time of flight 

 Põ¢u Cøn¨¦  øh® B¨ ¤øÍm 

(C) Light refraction (D) Light emitted 
 JÎ Â»PÀ  JÎ EªÌuÀ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

75. Rod level switches measures with 
P®¤ {ø» _ÂmPÒ AÍÂkÁx 

(A) Vibrates (B) Sensing 

 AvºÄ  EnºuÀ 

(C) Non-contact (D) Contact 
 öuõhº¦ CÀ»õux  öuõhº¦ EÒÍx 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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76. Capacitive devices are used for the level measurement of 
öP¨£õ]miÆ \õuÚ[PÒ {ø» AÍÃmk •øÓ°À Gøu AÍÃk ö\´¯ 
£¯ß£kQÓx. 

(A) Gas  

 Áõ²   

(B) Gas and Solid 

 Áõ² ©ØÖ® vh¨ö£õ¸Ò   

(C) Liquid and Gas  
 vμÁ® ©ØÖ® Áõ²   

(D) Liquid and solid in powder form 
 vμÁ® ©ØÖ® vh¨ö£õ¸Ò (yÒ ÁiÁzvÀ) 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

77. The level of solid in the tank is a measured by using which one
method? 
öuõmi°À EÒÍ vhzvß AÍÄ G¢u J¸ •øÓø¯¨ £¯ß£kzv 
AÍÂh¨£kQÓx. 

(A) Gamma ray absorption method  

 Põ©õ Pvº EÔg_uÀ •øÓ   

(B) Bin type electrical capacitance method 

 öuõmi ÁøP ªß öPõÒÍÍÄ •øÓ   

(C) Radiation level detector  
 PvºÃa_ {ø» PshÔ²® P¸Â   

(D) Ultrasonic level detector 
 «ö¯õ¼ {ø» PshÔuÀ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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78. ___________ type of level transmitter is best suited for use in narrow
tanks or vessels. 
___________ level transmitter ÁøP SÖQ¯ öuõmiPÒ AÀ»x 
£õzvμ[PÎÀ £¯ß£kzu ªPÄ® ö£õ¸zu©õÚx. 

(A) Ultrasonic (B) Non-guided wave Radar 

 «ö¯õ¼  ÁÈPõmh¨£hõu Aø» ÷μhõº

(C) Capacitance (D) Float and tape 
 öP¨£õ]mhßì  ªuøÁ ©ØÖ® |õhõ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

79. Fundamental difference between radar instruments and ultrasonic
instrument is type of wave used ___________. 
÷μhõº P¸ÂUS® AÀmμõ÷\õÛU P¸ÂUS® £¯ß£kzu¨£k® 
Ai¨£øh¯õÚ Aø»°ß ÁøP 

(A) Radio wave and Sound wave  

 ÷μi÷¯õ Aø» ©ØÖ® J¼ Aø» 

(B) Sound wave and Radio wave 

 J¼ Aø» ©ØÖ® ÷μi÷¯õ Aø» 

(C) Sound wave  
 J¼ Aø» 

(D) Radio wave 
 ÷μi÷¯õ Aø» 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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80. How much an ultrasonic pulse travels at the speed of ___________. 
J¸ ultrasonic pulse GÆÁÍÄ ÷ÁPzvÀ £¯oUQßÓÚ. 

(A) 1,496 Meters/sec (B) 2,496 Meters/sec 

(C) 3,496 Meters/sec (D) 4,496 Meters/sec 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

81. ___________ is the measured unit of UPS output rating. 
UPS AÄm¦m ÷μmi[ _________ GßÓ A»PõÀ AÍUP¨£kQÓx. 

(A) Voltage (B) Ampere 

 ÷ÁõÀ÷hä  B®¤¯º 

(C) Volt ampere (D) Farad 
 ÷ÁõÀm B®¤¯º  L÷£μm 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

82. A DIAC is equivalent to 
DIAC Gß£x _________ \©©õÚx. 

(A) TRIAC with two gates  

 Cμsk “÷Pm”&PÐhß Ti¯ TRIAC   

(B) Diode and two resistors  

 øh÷¯õk ©ØÖ® 2 öμ]ìhºPÒ   

(C) Pair of SCRs  
 SCR ÷áõi   

(D) Pair of four layer SCRs 
 |õßS ÷»¯º SCR ÷áõi 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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83. ___________ makes an online UPS different from offline UPS. 
_________ Bßø»ß UPS&I B¨ø»ß UPS&À C¸¢x ÷ÁÖ£kzxQÓx. 

(A) Charge controller (B) Battery 

 \õºä Psm÷μõ»º  ÷£mh› 

(C) Static switch (D) AC/DC rectifier 
 ìhõiU _Âma  AC/DC öμUiø£¯º 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

84. A TRIAC is a  
TRIAC Gß£x  

(A) bilateral device  

 ø£÷»mμÀ \õuÚ®   

(B) two terminal device 
 Cμsk •øÚPøÍ öPõsh \õuÚ® 

(C) Unilateral device  
 ²Û÷»mμÀ \õuÚ®  

(D) 4 terminal device 
 |õßS •øÚPøÍ öPõsh \õuÚ®  

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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85. In an SCR, the ‘holding current’ refers to 
SCR &À ÷íõÀi[ Pμsm Gß£x _________ I SÔUQÓx. 

(A) The maximum current an SCR can withstand 
 SCR &BÀ uõ[P Ti¯ AvP£m\ Pμsm  

(B) The minimum current needed to keep the SCR in the ON state
 SCR &I ‘Bß’ {ø»°À øÁUP ÷uøÁ¨£k® SøÓ¢u£m\ Pμsm  

(C) The current flowing through gate terminal 
 ‘÷Pm’ öhºªÚÀ ÁÈ¯õP £õ¯UTi¯ Pμsm  

(D) The current flowing through the anode terminal 
 ‘B÷Úõm’ öhºªÚÀ ÁÈ¯õP £õ¯UTi¯ Pμsm   

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

86. The energy band gap of silicon is 
]¼UPõÛß GÚºâ ÷£sm ÷P¨ _________ BS®. 

(A) 1.12 eV (B) 1.41 eV 

(C) 2.83 eV (D) 0.79 eV 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

87. For every 10ºC rise in temperature, the diode reverse saturation
current 
JÆöÁõ¸ 10ºC öÁ¨£{ø» E¯ºÄUS®, øh÷¯õiß ›Áºì \õa]³÷μ\ß 
Pμsm BÚx 

(A) doubles (B) reduces by one-third 

 C¸ ©h[PõS®  ‰ßÔÀ J¸ £[PõP SøÓ²® 

(C) becomes 3 times (D) halves 
 ‰ßÖ ©h[PõS®  £õv¯õS® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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88. If the load resistance decreases in a zener regulator, the zener
current 
ãÚº öμS÷»mh›À ÷»õm öμ]ìmhßì SøÓ²® ö£õÊx, ãÚº Pμsm 
BÚx 

(A) Decreases 
 SøÓ²®  

(B) Stays the same 

 A÷u {ø»°À C¸US®   

(C) Increases 
 AvP›US®  

(D) Equals the source voltage divided by series resistance 
 ÷\õºì ÷ÁõÀ÷häøá, öuõhº öμ]ìmhßì &BÀ ÁSzuuØS 

\©©õS®   

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

89. If the value of collector current Ic increases, then the value of VCE 
Pö»Uhº Pμsm&ß (Ic) ©v¨¦ AvP›zuõÀ, VCE &ß ©v¨¦ 

(A) Remains the same (B) Decreases 

 A÷u AÍÄ C¸US®  SøÓ²® 

(C) Increases (D) Zero 
 AvP›US®  ã÷μõ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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90. The current gain value of common base configuration is 
Põ©ß ÷£ì Pmhø©¨¤ß Pμsm öP´ß&ß ©v¨¦ 

(A) Greater than 20 (B) 10 

 20&I Âh AvP®  10 

(C) 20 (D) Less than one 
 20  JßøÓ Âh SøÓÄ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

91. The voltage across the load in a basic transistor shunt regulator is
set(s) by _________ component(s) 
J¸ ÷£]U iμõß]ìhº åßm öμS÷»mh›À, ÷»õkUS SÖU÷P EÒÍ 
÷ÁõÀ÷häøá ö\m ö\´Áx  

(A) Zener diode  
 ãÚº øh÷¯õk 

(B) Transistor base-emitter voltage 

 iμõßì]ìhº ÷£ì Gªmhº ÷ÁõÀ÷hä  

(C) Both (A) and (B)  

 (A) ©ØÖ® (B) 

(D) PN junction diode 
 PN & á[åß øh÷¯õk 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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92. A zener voltage regulator is used for _________ load currents. 
ãÚº ÷ÁõÀ÷hä öμS÷»mhº _________ ÷»õm PμsiØPõP £¯ß£kQÓx. 

(A) high (B) very high 

 AvP©õÚ  ªP AvP©õP 

(C) moderate (D) small 
 ªu©õÚ  SøÓÁõÚ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

93. The symbol represents 
SÔ±k SÔ¨£x 

 
 

(A) JFET 

 JFET  

(B) IGBT 

 IGBT 

(C) P channel MOSFET depletion type   

 P & ÷\ÚÀ MOSFET i¨Î\ß ÁøP 

(D) N channel MOSFET depletion type  
 N & ÷\ÚÀ MOSFET i¨Î\ß ÁøP 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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94. How gate is biased in JFET? 
JFET &ß ÷Pm GÆÁõÖ £¯õìk ö\´¯¨£kQÓx? 

(A) AC supply function   

 AC \¨øÍ ö\¯À£õmiÀ  

(B) Forward biased 

 £õº÷Áºk £¯õìk 

(C) Reverse biased  
 ›Áºì £¯õìk 

(D) Dual supply function  
 l¯À \¨øÍ £[åß 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

95. The input impedance of a common gate configured JFET is  
Põ©ß ÷Pm Pmhø©¨¦ JFET &ß Cß¦m C®¤hßì 

(A) low (B) average 

 SøÓÄ  \μõ\› 

(C) high (D) very high 
 AvP®  ªP AvP® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

96. Flip Flops required to construct a decade counter are. 
i÷Pm PÄßhº&ø¯ E¸ÁõUP ÷uøÁ¨£k® ¨Î¨&L¨Íõ¨&ß GsoUøP   

(A) 10 (B) 8 

(C) 5 (D) 4 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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97. The circuit number of the IC that contains four two-input AND 
gates in standard TTL is  
{ø»¯õÚ TTL&À |õßS, Cμsk Cß¦m AND ÷PmPøÍU öPõsh IC&ß 
Gs 

(A) 7404 (B) 7402 

(C) 7408 (D) 7432 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

98. Express (2534)10 in BCD form 
(2534)10 &I ¤]i ÁiÁzvÀ GÊx. 

(A) (0010 0100 0100 0100)BCD (B) (0010 0101 0110 0100)BCD 

(C) (0010 0101 0011 0100)BCD (D) (0010 0100 0101 0010)BCD 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

99. A IC 555 will have  
I] 555&À _________ öPõsi¸US®. 

(A) 2 comparators, 1 RS-flip flop, 1 discharge transistor   

 2 P®£÷μmhºPÒ, 1 Bº.Gì ¨Î¨&¨Íõ¨, 1 iì\õºä iμõß]ìhº 

(B) 2 comparators, 2 RS flip flop, 1 discharge transistor 

 2 P®£÷μmhºPÒ, 2 Bº.Gì ¨Î¨&¨Íõ¨, 1 iì\õºä iμõß]ìhº 

(C) 1 comparator, 2 RS flip flop, 1 discharge transistor  

 1 P®£÷μmhº, 2 Bº.Gì ¨Î¨&¨Íõ¨, 1 iì\õºä iμõß]ìhº 

(D) 1 comparator, 1 RS flip flop, 1 discharge transistor 
 1 P®£÷μmhº, 1 Bº.Gì ¨Î¨&¨Íõ¨, 1 iì\õºä iμõß]ìhº 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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100. CMRR parameter in an instrumentation amplifier stands for 
Cßìkö©ß÷håß B®¤Îø£¯›À ]G®BºBº GßÓ AÍÄ¸ Gøu 
SÔUQÓx? 

(A) Common mode rejection ratio  
 Põ©ß ÷©õk ›áUåß ÷μæ÷¯õ 

(B) Common medium rejection ratio 

 Põ©ß «i¯® ›áUåß ÷μæ÷¯õ 

(C) Common mode ratio of reference   
 Põ©ß ÷©õk ÷μæ÷¯õ B¨ öμ¨£öμßì 

(D) Common medium reference ratio 
 Põ©ß «i¯® öμ¨£öμßì ÷μæ÷¯õ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

101. The value of the colour code resistor with red, green, blue is 
P»º ÷Põm öμ]ìhõ›À ]P¨¦, £aø\, }»® öPõshx –––––––––– ©v¨ø£ 
SÔUQÓx 

(A) 25 ΩM  (B) 250 ΩM  

(C) 2.5 ΩM  (D) 0.25 ΩM  

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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102. A substance which has a large number of free electrons at room 
temperature is called a 
AøÓ öÁ¨£{ø»°À AvP GsoUøP°À ¨Ÿ G»UmμõßPÒ öPõsh J¸ 
ö£õ¸Ò –––––––––– GÚ AøÇUP¨£kQÓx 

(A) Insulator 
 Cß_÷»mhº 

(B) Semiconductor  
 ö\ª PßhUhº 

(C) Conductor 
 PßhUhº 

(D) Both conductor and semiconductor 
 PßhUhº ©ØÖ® ö\ªPßhUhº 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

103. Electrons contained in a coulomb of electric charge is 
J¸ T¾® G»Um›U \õºâÀ öPõskÒÍ G»UmμõßPÎß GsoUøP 

(A) 6.25 × 108 electrons (B) 6.25 × 1012 electrons 
 6.25 × 108 G»UmμõßPÒ  6.25 × 1012 G»UmμõßPÒ 

(C) 6.25 × 1016 electrons (D) 6.25 × 1018 electrons 
 6.25 × 1016 G»UmμõßPÒ  6.25 × 1018 G»UmμõßPÒ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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104. The reciprocal of resistance of a conductor is   
J¸ Phzv°ß ªßuøh°ß uø»URÌ 

(A) Impedance (B) Capacitance 

 C®£hßì  öP£õ]hßì 

(C) Conductance (D) Inductance 
 PßhUhßì  CßhUhßì 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

105. The difference between a conductor and an insulator is 
PßhUhº ©ØÖ® Cß_÷»mhº&US EÒÍ ÷ÁÖ£õk 

(A) Conductors are used in high voltage applications, while 
insulators are used in low voltage applications 

 PßhUhºPÒ AvP ªßÚÊzu £¯ß£õmiØS £¯ß£kQÓx. 
Cß_÷»mhºPÒ SøÓ¢u ªßÚÊzu £¯ß£õmiØS £¯ß£kQÓx 

(B) There is no difference between a  conductor and an insulator 
 PßhUhº ©ØÖ® Cß_÷»mhº Cøh÷¯ G¢u ÷ÁÖ£õk® CÀø» 

(C) Conductors allow current to flow through them, while 
insulators do not 

 PßhUhºPÒ Auß ÁÈ÷¯ ªß÷Úõmhzøu £õ¯Âk®, BÚõÀ 
Cß_÷»mhºPÒ AÆÁõÖ ö\´¯õx 

(D) Insulators are made of metal, while conductors are made of 
non-metal materials 

 Cß_÷»mhºPÒ E÷»õP[PÍõÀ BÚx PßhUhºPÒ E÷»õP©ØÓ 
ö£õ¸mPÍõÀ BÚx 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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106. The basic requirements of a servomotor is that it must produce high
torque all 
\º÷Áõ÷©õmh›ß Ai¨£øh ÷uøÁPÒ GßÚöÁßÓõÀ AøÚzx –––––––––
AvP •ÖUSÂø\ø¯ E¸ÁõUP ÷Ásk® 

(A) Loads (B) Frequencies 

 ÷»õkPÒ  AvºöÁsPÒ 

(C) Speeds (D) Voltages 
 ÷ÁP[PÒ  ÷ÁõÀ÷häPÒ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

107. The main purpose of performing open-circuit test on a transformer is 
to measure its 
J¸ iμõßì£õº©›À vÓ¢u _ØÖ ÷\õuøÚ ö\´Áuß •UQ¯ ÷|õUP® Aøu 
AÍÂkÁuõS® 

(A) Copper loss (B) Total loss 

 Põ¨£º CÇ¨¦  ö©õzu CÇ¨¦ 

(C) Core loss (D) Insulation resistance 
 ÷Põº CÇ¨¦  ªßPõ¨¦ ªßuøh 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

108. The speed of the rotation of the stepper motor depends on 
ìöh¨£º ÷©õmhõ›ß _ÇØ]°ß ÷ÁP® –––––––––– \õº¢v¸US® 

(A) Torque (B) Number of input pulses 

 hõºU  Cß¦m £ÀìPÎß GsoUøP

(C) Frequency of input pulses (D) Solenoid 
 Cß¦m £ÀìPÎß AvºöÁs  \õ¼Úõ´k 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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109. A d.c. generator is a machine that converts 
i.]. öáÚ÷μmhº GßÝ® C¯¢vμ® –––––––––– ©õØÖQÓx 

(A) Electrical energy into mechanical energy 
 ªßÚõØÓø» C¯¢vμ BØÓ»õP ©õØÖQÓx 

(B) Mechanical energy into electrical energy  
 C¯¢vμ BØÓø» ªßÚõØÓ»õP ©õØÖQÓx 

(C) Low electrical energy into high electrical energy 
 SøÓ ªßÚõØÓø» AvP ªßÚõØÓ»õP ©õØÖQÓx 

(D) Low currents into high currents 
 SøÓ¢u ªß÷Úõmhzøu AvP©õÚ ªß÷Úõmh©õP ©õØÖQÓx 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

110. The DC motor used for constant speed drive is 
{ø»¯õÚ ÷ÁP C¯UPzvØS¨ £¯ß£kzu¨£k® i.]. ÷©õmhõº 

(A) DC series motor 
 i.]. ^Ÿì ÷©õmhõº 

(B) DC shunt motor  
 i.]. åßm ÷©õmhõº 

(C) Differential long shunt compound motor 
 ÷ÁÖ£mh }sh åßm P»øÁ ÷©õmhõº 

(D) Differential short shunt compound motor 
 ÷ÁÖ£mh SÖQ¯ åßm P»øÁ ÷©õmhõº 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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111. How many compressions and breaths should you do for each cycle of 
CPR? 
]¤Bº&Cß JÆöÁõ¸ _ÇØ]US® GzuøÚ AÊzu[PÒ ©ØÖ® 
_Áõ\[PøÍa ö\´¯ ÷Ásk® 

(A) 15 compressions, 2 breaths 

 15 AÊzu[PÒ, 2 _Áõ\[PÒ 

(B) 30 compressions, 5 breaths  

 30 AÊzu[PÒ, 5 _Áõ\[PÒ 

(C) 30 compressions, 2 breaths 

 30 AÊzu[PÒ, 2 _Áõ\[PÒ 

(D) 15 compressions, 5 breaths 

 15 AÊzu[PÒ, 5 _Áõ\[PÒ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

112. A micrometer has an error of + 0.02 mm. What is the correct value
in mm, when the micrometer reads 15.43 mm? 
ø©U÷μõ«mh›À ¤øÇ¯õÚx + 0.02 ª.« BP C¸US® ÷£õx, A¢u 

ø©U÷μõ«mh›À 15.43  ª.« AÍÄ Põmk® ÷£õx, Auß Esø©¯õÚ ª.« 
©v¨¦ –––––––––– 

(A) 15.39 (B) 15.41 

(C) 15.45 (D) 15.47 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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113. For twisting, pulling and gripping small jobs –––––––––– is used 
]Ô¯ ÷Áø» ö£õ¸mPøÍ •ÖUP, CÊUP ©ØÖ® CÖUP©õP ¤iUP 
————— £¯ß£kQÓx 

(A) File (B) Spanner 

 Lø£À  ì÷£Úº 

(C) Micrometer (D) Plier 
 ø©U÷μõ«mhº  ¨øÍ¯º 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

114. The maximum size of drill bit used in electrical hand drilling
machine is 
øPPÍõÀ C¯UPUTi¯ ªß\õμ xøÍ°k® C¯¢vμzvÀ £¯ß£kzu¨£k® 
i›À ¤miß AvP£m\ AÍÄ 

(A) 2 mm (B) 12 mm 

 2 ª.«  12 ª.« 

(C) 6 mm (D) 4 mm 
 6 ª.«  4 ª.« 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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115. The blade fitted on the back of a vernier caliper can be used for 
öÁºÛ¯º Põ¼¨£›ß ¤ß¦ÓzvÀ ö£õ¸zu¨£mkÒÍ ¤÷Ík —————
£¯ß£kQÓx 

(A) Depth measurements of hole  

 xÁõμ[PÎß BÇzøu AÍUP   

(B) Angle measurements 

 ÷Põn[PøÍ AÍUP   

(C) External diameter measurements  
 öÁÎ Âmh[PøÍ AÍUP   

(D) Internal diameter measurements 
 EÒ Âmh[PøÍ AÍUP 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

116. The lead–acid cell should never be discharged beyond 
ö»m B]m ö\À J¸ ÷£õx® ————— US SøÓÁõP iì\õºä BP 
Thõx. 

(A) 1.8 V (B) 1.9 V 

(C) 2 V (D) 2.1 V 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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117. Two coils have self inductances of 10H and 2H, the mutual
inductance being zero, if the two coils are connected in series, the 
total inductance will be 
Cμsk Põ°ÀPÒ 10H ©ØÖ® 2H ußøÚzuõ÷Ú yshÀPøÍU 
öPõskÒÍÚ. AvÀ JßøÓ JßÖz yshÀ §äâ¯©õP C¸UQÓx. 
CÆÂ¸ Põ°ÀPÐ® öuõh›øn¨¤À CønUP¨£mi¸¢uõÀ Auß ö©õzu 
yshÀ ————— C¸US® 

(A) 6H (B) 8H 

(C) 12H (D) 24H 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

118. Ampere hour capacity of an industrial battery is based on
–––––––––– hours discharge rate 
J¸ öuõÈØxøÓ ÷£mh›°À B®¤¯º íÁº vÓß ————— ©o÷|μ 
öÁÎ÷¯ØÓ ÂQuzøu Ai¨£øh¯õPU öPõshx 

(A) 8 (B) 12 

(C) 16 (D) 24 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

119. The total capacitance when three capacitors 1c , 2c  and 3c are 
connected in parallel 

1c , 2c ©ØÖ® 3c  BQ¯ ‰ßÖ öP¨£õ]mhºPÒ Cøn Cøn¨¤ß ÷£õx 
Auß ö©õzu öP¨£õ]mhßì ©v¨¦ 

(A) )/( 321 ccc +  (B) 321 ccc ++  

(C) )/( 312 ccc +  (D) 
321

111
ccc

++  

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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120. Two filament lamps A  and B  take A8.0  and A9.0  respectively 
when connected across V110 supply. Find the resistance in each
filament 
Cμsk ¤Í©smPÒ A  ©ØÖ® B , V110  \¨øÍUS Cøh÷¯ CønUS® 
÷£õx A8.0  ©ØÖ® A9.0 •øÓ÷¯ ªß÷Úõmh® £õ´QÓx. ¤Íö©ßiß 
ªßuøh°ß ©v¨ø£ PnUQkP. 

(A) 
9.0

110
,

8.0
110

 (B) 9.0110,8.0110 ××  

(C) 9.0110,8.0110 ++  (D) 9.0110,8.0110 −−  

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

121. The meter that indicates gallons per minute most likely measures 
{ªhzvØS ÷P»ßPøÍU SÔUS® «mhº ö£¸®£õ¾® ————— AÍUS®

(A) Total flow (B) Flow rate 

 ö©õzu Kmh®  Kmh ÂQu® 

(C) Laminar flow (D) Turbulent flow 
 ÷»ªÚõº Kmh®  hº¦ö»ßm Kmh® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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122. Vortex–shedding meters are unsuitable for use on  
öÁºöhUì öåmi[ «mhºPÒ ————— £¯ß£õmiØS ö£õ¸zu©ØÓx 

(A) low–viscosity liquids  

 SøÓ¢u £õSzußø© öPõsh vμÁ[PÒ   

(B) high–viscosity liquids 

 AvP £õSzußø© öPõsh vμÁ[PÒ   

(C) Clean fluids  
 y´ø©¯õÚ vμÁ[PÒ   

(D) Decreasing viscosity fluid 
 £õSzußø© SøÓQßÓ vμÁ[PÒ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

123. The flow meter which cannot measure bidirectional flow is 
C¸uμ¨¦ Kmhzøu AÍÂh •i¯õu L¨÷Íõ«mhº 

(A) Ultrasonic flow meter  

 «ö¯õ¼ Kmh «mhº   

(B) Turbine flow meter 

 hºø£ß L¨÷Íõ «mhº   

(C) Electromagnetic flow meter  
 G»Um÷μõ÷©UÚiU L¨÷Íõ «mhº   

(D) Coriolis mass flow meter 
 öPõ›÷¯õ¼ì öÁSöáÚ L¨÷Íõ «mhº 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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124. The movement of fixed volumes in an operating principle of 
–––––––––– flow measurement 
————— Kmh AÍÃmiß C¯UPU öPõÒøP°À {ø»¯õÚ öuõSvPÎß 
C¯UP® 

(A) Orifice (B) Coriolis 

 B›ø£ì  Põ›÷¯õ¼ì 

(C) Positive displacement (D) Venturi 
 ÷|º©øÓ Ch¨ö£¯ºa]  öÁß_› 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

125. The induced voltage in the magnetic flow meter  
Põ¢u Kmh «mh›À ysh¨£k® ªßÚÊzu® 

(A) is directly proportional to volumetric flow rate  

 ÁõÀ³ö©m›U Kmh ÂQuzvØS ÷|μi ÂQuõ\õμ©õS®  

(B) is inversely proportional to volumetric flow rate 
 ÁõÀ³ö©m›U Kmh ÂQuzvØS uø»RÌ ÂQuõ\õμ©õS® 

(C) is proportional to square of volumetric flow rate  
 ÁõÀ³ö©m›U Kmh ÂQuzvß \xμzvØS ÂQuõ\õμ©õS®  

(D) is inversely proportional to square of volumetric flow rate 
 ÁõÀ³ö©mi›U Kmh ÂQuzvß \xμzvØS uø»RÌ ÂQuõ\õμ©õS® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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126. The flow meter used in gas flow measurement and utilizes
temperature differences?   
Áõ² Kmh AÍÃmi¾® ©ØÖ® öÁ¨£{ø» ÷ÁÖ£õkPøÍ AÍUP¨ 
£¯ß£k® Kmh «mhº 

(A) Coriolis Flow meter  (B) Venturi Flow meter 

 Põ›÷¯õ¼ì Kmh «mhº  öÁß_› Kmh «mhº 

(C) Vortex Flow meter (D) Thermal Flow meter 
 öÁºöhUì Kmh «mhº  öuº©À Kmh «mhº 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

127. Liquid flow rate in an open channel cannot be measured by a/an 
vÓ¢u ÷\Ú¼À vμÁ Kmh ÂQuzøu ———— BÀ AÍÂh •i¯õx. 

(A) Orifice meter (B) Cipolletti weir  
 B›ø£ì «mhº  ]¨£ö»mi Â¯º 

(C) Rectangular weir (D) V-notch  
 ö\ÆÁP Â¯º  V-|õma 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

128. If the flow rate is calculated by time and volumetric flow
measurement then it is called as   
Kmh ÂQu®, ÷|μ® ©ØÖ® Kmh AÍÃkhß PnURk ö\´¯¨£mhõÀ 
AøÁ ———— GÚ AøÇUP¨£kQßÓÚ. 

(A) Secondary calibration  (B) Primary calibration 

 ö\Psh› Põ¼¨÷μåß  ¤øμ©› Põ¼¨÷μåß 

(C) Standard calibration (D) Wind tunnel calibration 
 ìhõßhºk Põ¼¨÷μåß  Âßk hßÚÀ Põ¼¨÷μåß 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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129. The current maintance revolution of data through high speed 
network connection is  
Av÷ÁP ö|möÁõºU Cøn¨¦ ‰»® uμÄPÎß uØ÷£õøu¯ £μõ©›¨¦ 
_ÇØ]  

(A) Industry 1.0 (B) Industry 2.0 

 öuõÈÀ 1.0  öuõÈÀ 2.0 

(C) Industry 3.0 (D) Industry 4.0 
 öuõÈÀ 3.0  öuõÈÀ 4.0 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

130. Mass flow measurements of dry Bulk material on  
ö©õzu ö£õ¸mPÎß öÁSöáÚ Kmh AÍÃk Gß£x  

(A) Conveyor Belt (B) Thermal  mass flow 

 Pß÷Á¯º ö£Àm  öÁ¨£ öÁSöáÚ Kmh® 

(C) Ultrasonic flow (D) Coriolis mass flow 
 «ö¯õ¼ Kmh®  öPõ›»ì öÁSöáÚ Kmh® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

131. The pressure measured by DP transmitter  
i.¤. iμõßìªmhμõÀ AÍUP¨£k® AÊzu® 

(A) absolute pressure  (B) Gauge pressure 

 ö©õzu AÊzu®  ÷Pä AÊzu® 

(C) Vacuum pressure (D) Differential pressure 
 öÁØÔh AÊzu®  ÷ÁÖ£mh AÊzu® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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132. The measurement principle of microwave solid flow meter is
based on   
ø©U÷μõ÷ÁÆ vh Kmh «mhºPÎß C¯[S® uzxÁ® 

(A) Doppler Effect (B) Vortex 

 hõ¨Íº ÂøÍÄ  ÁºöhUì 

(C) Thermal (D) Coriolis  
 öuº©À  Põ›÷¯õ¼ì 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

133. When there is no flow through rotameter, the float rests at?  
÷μõmhõ«mh›À G¢u Kmh•® CÀ»õu ÷£õx, ªuøÁ BÚx ————
C¸US®. 

(A) top of meter tube (B) bottom of meter tube 

 «mhº i³¨¤ß ÷©À¦ÓzvÀ  «mhº i³¨¤ß RÌ¦ÓzvÀ 

(C) middle of meter tube (D) any position  
 «mhº i³¨¤ß |kÂÀ  G¢u {ø»°¾® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

134. Notch is a device used for measuring 
÷|õma Cøu AÍÂh £¯ß£kQÓx 

(A) Velocity through small channels   

 ]Ô¯ ÷\ÚÀ ‰»® ÷ÁPzøu AÍÂh   

(B) Velocity through pipes  
 SÇõ´PÒ ‰»® ÷ÁPzøu AÍÂh 

(C) Rate of flow through pipes  
 SÇõ´PÒ ÁÈ¯õP £õ²® Kmh ÂQuzøu AÍÂh  

(D) Rate of flow through small channels  
 ]Ô¯ ÷\ÚÀPÒ ÁÈ¯õP £õ²® Kmh ÂQuzøu AÍÂh 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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135. The orifice plate categorized into ————— type. 
B›ø£ì umk ———— ÁøP¨£kzu¨£kQÓx. 

(A) one (B) two 

 JßÖ  Cμsk 

(C) three (D) four 
 ‰ßÖ  |õßS 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

136. The unit of flow rate is  
Kmh ÂQuzvß A»S 

(A) pounds per square inch (B) feet per second 

 £Äsm / A[S»®
2
  Ai / ÂÚõi 

(C) gallons per minute (D) inches of water 
 ÷P»ß / {ªh®  usp›ß A[S»[PÎÀ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

137. The parameter of fluid flow does not effect its Reynolds number 
vμÁ Kmhzvß AÍÄ¸ Auß öμÚõÀmì Gsøn £õvUPõx? 

(A) density of fluid 
 vμÁzvß Ahºzv 

(B) mean fluid velocity 
 vμÁzvß vø\÷ÁP® 

(C) temperature of fluid 
 vμÁzvß öÁ¨£{ø» 

(D) characteristics of dimension of fluid flow cross-section 
 vμÁ Kmhzvß SÖUSöÁmiß £s¦PÒ £›©õn® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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138. Raindrops are spherical because of 
©øÇzxÎPÒ ÷PõÍ ÁiÁ©õP C¸UP Põμn® 

(A) surface tension forces (B) air resistance 

 ÷©Ø£μ¨¦ öhßåß Âø\PÍõÀ  PõØÔß Gvº¨£õÀ 

(C) viscosity (D) atmospheric pressure 
 £õSzußø©¯õÀ  ÁÎ©sh» AÊzuzuõÀ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

139. A nozzle meter is used to measure. 
|õ]À «mhº ——————ß AÍøÁ AÍUP £¯ß£kQÓx. 

(A) viscosity (B) flow rate 

 ÂìPõ]mi  Kmh ÂQu® 

(C) volume (D) velocity 
 PÚ AÍÄ  vø\÷ÁP® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

140. The unit of rate of flow of discharge is 
öÁÎ÷¯ØÓzvß Kmh ÂQuzvß A»S 

(A) m2/sec (B) m3/sec 

 «2/ÂÚõi  «3/ÂÚõi 

(C) litres × sec (D) litres2 × sec 
 ¼mhº × ÂÚõi  ¼mhº2 × ÂÚõi 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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141. The temperature range of the thermocouple is 
öuº÷©õP¨¤¼ß  öÁ¨£{ø» Áμ®¦ (÷μga) 

(A) – 270 to 1800°C (B) – 200 to 1200°C 

(C) + 200 to 1400°C (D) – 100 to 450°C 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

142. In a thermocouple element, heat energy transferred to the hot
junction is converted into electrical energy by 
J¸ öuº÷©õP¨¤Ò uÛ©zvÀ, `hõÚ \¢v¨¦US ©õØÓ¨£k® öÁ¨£BØÓÀ 
‰»® ªß BØÓ»õP ©õØÓ¨£kQÓx  

(A) Johnson’s effect (B) Seebeck effect 

 áõß\Ûß ÂøÍÄ  ^ö£U ÂøÍÄ 

(C) Hall effect (D) Faraday’s effect 
 íõÀ ÂøÍÄ  L£õμ÷h°ß ÂøÍÄ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

143. Thermocouple is suitable for measuring 
öuº÷©õP¨¤Ò AÍÂh HØÓx 

(A) Liquid temperature only 
 vμÁ öÁ¨£{ø» ©mk® 

(B) Very high temperature only 
 ªP AvP öÁ¨£{ø» ©mk® 

(C) Very low temperature only 
 ªPU SøÓ¢u öÁ¨£{ø» ©mk® 

(D) Both high and low temperature  
 E¯º ©ØÖ® SøÓ¢u öÁ¨£{ø» Cμsk® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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144. The —————— produced by the thermocouple is always small. 
öuº÷©õP¨¤Ò —————— E¸ÁõUP® G¨÷£õx® ]Ô¯uõP C¸US®. 

(A) current (B) voltage 

 ªß÷Úõmh®  ªßÚÊzu® 

(C) resistance (D) frequency 
 ªßuøh  AvºöÁs 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

145. Bimetal thermometer was less accurate but more ——————
measuring than the glass thermometer. 
C¸ E÷»õP öÁ¨£©õÛ Psnõi öÁ¨£©õÛø¯ Âh xÀ¼¯® 
SøÓÁõÚx BÚõÀ —————— AÍÂk® \õuÚ®. 

(A) precise (B) rugged 

 xÀ¼¯©õÚ  •μmkzuÚ©õÚ 

(C) clear path (D) straight 
 öuÎÁõÚ £õøu  ÷|μõÚ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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146. Working principle of mercury in glass thermometer is 
£õuμ\ Psnõi öÁ¨£{ø»©õÛ ö\¯À£k® uzxÁ® 

(A) Volumetric expansion 
 £¸©ÚÔ Â›ÁõUP® 

(B) Pressure rise with temperature  
 öÁ¨£{ø»²hß AÊzu® E¯ºuÀ 

(C) Linear expansion 
 ÷|›¯À Â›ÁõUP® 

(D) Non linear expansion 
 ÷|›¯À AÀ»õu Â›ÁõUP® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

147. The resistance thermometer require 
öμ]ìöhßì öuº÷©õ«mhºPÎÀ £¯ß£kzu¨£k® \ºU³m 

(A) AC circuit (B) DC circuit 

 H] _ØÖ  i] _ØÖ 

(C) Bridge circuit (D) All of these 
 ¨›mä _ØÖ  CøÁ AøÚzx® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

148. The RTD’s sensing element identify by 
RTD&°ß EnºÄvÓß EÖ¨¤ß Aøh¯õÍ©õS® 

(A) PT 100 Ω @ 0°C (B) PT 100 Ω @ 100°C 

(C) PT 100 Ω @ –200°C (D) PT 100 Ω @ + 200°C 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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149. RTD is a  
RTD Gß£x J¸ 

(A) Negative Temperature Co-efficient  
 Gvº©øÓ öÁ¨£{ø» Cøn ö\¯ÀvÓß   

(B) Positive Temperature Co-efficient  
 ÷|º©øÓ öÁ¨£{ø» Cøn ö\¯ÀvÓß 

(C) Linear Temperature Co-efficient  
 ÷|›¯À öÁ¨£{ø» Cøn ö\¯ÀvÓß   

(D) Non-linear Temperature Co-efficient  
 ÷|›¯À AÀ»õu öÁ¨£{ø» Cøn ö\¯ÀvÓß 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

150. Which of the following devices is used to measure relatively high
temperatures, such as  encountered in Furnaces? 
öÁ¨£ Eø»PÎÀ GvºöPõÒÁx ÷£õßÓ J¨¥mhÍÂÀ E¯º 
öÁ¨£{ø»ø¯ AÍÂh ¤ßÁ¸® \õuÚ[PÎÀ Gx £¯ß£kzu¨£kQÓx 

(A) Bolo meter (B) Pyrometer 

 ÷£õ÷»õ «mhº  ø£÷μõ  «mhº 

(C) Tachometer (D) Flux meter 
 ÷h÷Põ «mhº  ¤ÍUì «mhº 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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151. What material is commonly used in RTD elements? 
RTD À ö£õxÁõP G¢u uÛ©® (E÷»õP®) £¯ß£kzu¨£kQÓx? 

(A) Silicon (B) Platinum 

 ]¼Põß  ¤ÍõmiÚ® 

(C) Aluminium (D) Copper 
 A¾ªÛ¯®  Põ¨£º 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

152. Normal human body temperature 98.6°F. In Kelvin scale is –––––––––

\õuõμn ©Ûu Eh¼ß öÁ¨£® 98.6° £õμßîm CuøÚ öPÀÂß 
AÍÃmiÀ ©õØÖ® ÷£õx –––––––––– QøhUS®. 

(A) 320 K (B) 300 K 

 320 öPÀÂß  300 öPÀÂß 

(C) 308 K (D) 310.15 K 
 308 öPÀÂß  310.15 öPÀÂß 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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153. Fundamental interval means 
Ai¨£øh CøhöÁÎ Gß£x 

(A) Temperature interval between ice point and steam point  

 £Û ¦ÒÎ ©ØÖ® }μõÂ ¦ÒÎ Cøh÷¯ EÒÍ öÁ¨£{ø» 
CøhöÁÎ  

(B) Temperature interval between solid point and liquid point 
 vh ¦ÒÎ ©ØÖ® vμÁ ¦ÒÎ Cøh÷¯¯õÚ öÁ¨£{ø» CøhöÁÎ 

(C) Temperature interval between solid point and ice point  
 vh¨¦ÒÎ ©ØÖ® £Û ¦ÒÎ Cøh÷¯¯õÚ öÁ¨£{ø» CøhöÁÎ  

(D) Temperature interval between solid point and steam point 
 vh¨¦ÒÎ ©ØÖ® }μõÂ ¦ÒÎ Cøh÷¯¯õÚ öÁ¨£{ø» CøhöÁÎ

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

154. Temperature define defined as 
öÁ¨£{ø» GÆÁõÖ Áøμ¯ÖUP¨£kQÓx 

(A) degree of heat (B) degree of angle 

 öÁ¨£ AÍÄ  ÷Põnzvß AÍÄ 

(C) degree of liquid (D) degree of gas 
 vμÁ AÍÄ  Áõ² AÍÄ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

155. Heat depends on the –––––––––– of atoms and molecules. 
öÁ¨£® AqUPÒ ©ØÖ® ‰»UTÖPÎß –––––––––– ø¯¨ ö£õ¸zxP. 

(A) Velocity (B) Speed 

 vø\÷ÁP®  ÷ÁP® 

(C) Temperature (D) None of these 
 öÁ¨£{ø»  CÁØÔÀ GxÄªÀø» 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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156. –––––––––– formula is used to convert from one unit to another unit. 
J¸ A»Q¼¸¢x ©ØöÓõ¸ A»SUS ©õØÓ –––––––––– `zvμ® 
£¯ß£kzu¨£kQÓx. 

(A) Mixed (B) Conversion 

 P»¨£õÚ  ©õØÓ® 

(C) Static (D) Dynamic 
 {ø»¯õÚ  ©õÔ¼ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

157. Which one is part of paperless recorder? 
J¸ PõQu©ØÓ öμUPõºh›ß, J¸ £Sv¯õS® 

(A) Diode (B) Memory card slot 

 øh÷¯õk  ö©©› Põºk ì»õm 

(C) Electromagnet (D) Permanent magnet 
 ªßPõ¢u®  {μ¢uμ Põ¢u® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

158. The paperless recorder is mainly composed of 
PõQuªÀ»õ öμUPõºhº •UQ¯©õP E¸ÁõUP¨£kQÓx 

(A) Microprocessor (B) Voltage 

 ~sö\¯¼  ªßÚÊzu® 

(C) PLC (D) SCADA 
 ¤GÀ]  ìPõhõ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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159. Strip chart recorder is a –––––––––– 
ìm›¨ \õºm öμUPõºhº Gß£x –––––––––– 

(A) Graphic recorder  

 Qμõ¤U öμUPõºhº  

(B) Oscillographic recorder 
 B]÷»õQμõ¤U öμUPõºhº 

(C) Magnetic tape type recorder  
 Põ¢u umk ÁøP öμUPõºhº  

(D) None of these 
 CøÁ GxÄ® CÀø» 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

160. A circular recorder uses 
J¸ Ámh öμUPõºhº £¯ß£kzxÁx 

(A) Rectilinear chart (B) Curvilinear chart 

 ÷|º÷Põmk ÂÍUP¨£h®  ÁøÍÄ ÂÍUP¨£h® 

(C) Square chart (D) Circular chart 
 \xμ ÂÍUP¨£h®  Ámh ÂÍUP¨£h® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

161. A toggle switch operates through ––––––––––– mechanism 
J¸ hõSÀ _Âma G¢u ö\¯À•øÓ°ß ‰»® ö\¯À£kQÓx. 

(A) Sliding (B) Pivoting 

 ìø»i[  ø£Áõmi[ 

(C) Rotating (D) Pushing 
 _ÇØ]  uÒÐuÀ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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162. It helps the mechanical limit switch returns to its original position. 
ö©UPõÛUPÀ _Âma C¯À¦ {ø»US v¸®¦Áøu Cx EÖv ö\´QÓx. 

(A) Return Spring (B) Terminal 

 ›mhß ì¤›[  öhºªÚÀ 

(C) Contact Block (D) Actuator 
 PõshõUm ¤ÍõU  BU_÷Ámhº 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

163. Which of the following power switches has only two terminal? 
Cμsk öhºªÚÀ öPõsh £Áº _Âma Gx? 

(A) DIAC (B) TRIAC 

 øh¯U  mμ¯õU 

(C) GTO (D) SCR 
 âiK  Gì.].Bº. 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

164. The type of following is a type of proximity sensor. 
¤ßÁ¸ÁÚ JßÖ ¤μõU]ªmi ö\ß\õº. 

(A) Photo Electric Sensor (B) Strain gauge 

 L÷£õm÷hõ G»Ui›U ö\ß\õº  ìmöμ´ß ÷Pä 

(C) Turbine (D) Strain gauge with weight 
 hºø£ß  ìmöμ´ß ÷Pä²hß öÁ°m 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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165. The sensing range of a proximity switch. 
¤μõUêªmi _Âm]ß EnºÂß Áμ®¦. 

(A) The size of the object being sensed  
 Enμ¨£k® ö£õ¸Îß AÍÄ 

(B) The distance from the switch to the object being sensed 

 _Âm]¼¸¢x Enμ¨£k® ö£õ¸ÐUS EÒÍ yμ® 

(C) The temperature of the object being sensed  
 Enμ¨£k® ö£õ¸Îß öÁ¨£{ø» 

(D) The type of material of the object being sensed 
 Enμ¨£k® ö£õ¸Îß ö©mi›¯¼ß ÁøP 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

166. Which one of the following is not a PLC manufacturer? 
¤ßÁ¸ÁÚÁØÔÀ Gx PLC EØ£zv¯õÍº AÀ»? 

(A) Allen Bradley (B) Microsoft 

 B»ß ¤μõm¼  ø©U÷μõ\õ¨m 

(C) Siemens (D) Mitsubishi 
 ^ö©ßì  ªm_¤æ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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167. Match the following type 
¤ßÁ¸® ÁøPø¯¨ ö£õ¸zx. 
(a) HART  1. 4–20 mA 
 íõºm   4–20 mA 
(b) Analog  2. Multidrop 
 AÚ»õU   ©Àmiiμõ¨    
(c) FSK  3.   Analog Capability  
 G¨Gì÷P   AÚ»õU vÓß   
(d) Network  4. HART Communication 
 ö|möÁõºU   íõºm öuõhº¦ 

 (a) (b) (c) (d) 
(A) 4 3 2 1    
(B) 3 1 4 2     
(C) 1 3 4 2    
(D) 3 4 1 2 
(E) Answer not known 
 Âøh öu›¯ÂÀø» 

168. Which one is PLC programming language? 
PLC °ß {μ»õUP ö©õÈ Gx? 

(A) Sequential Function chart (B) Assembly Language 

 öuõhº ö\¯À£õk ÂÍUP¨£h®  Aö\®¤¼ ö©õÈ 

(C) Machine Language (D) ‘C' Language 
 C¯¢vμ ö©õÈ  ‘C' ö©õÈ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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169. Programming languages being used in PLC today are 
{PÌPõ»zvÀ PLC °À £¯ß£kzu¨£k® ö©õÈ 

(A) 'C' (B) BASIC 

 'C'  ÷£]U 

(C) Ladder Logic (D) All of the above 
 Ho uºUP®  ÷©÷» EÒÍ AøÚzx® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

170. Which of the following statements are true about I/O? 
I/O £ØÔ ¤ßÁ¸® TØÖPÎÀ Gx Esø©? 

(i) The integral type remote I/O allows a limited transmission 
distance upto 4.5 kilometers. 

 J¸[Qøn¢u ÁøP ›÷©õm I/O 4.5 Q÷»õ«mhºPÒ Áøμ 
Áøμ¯ÖUP¨£mh £›©õØÓ yμzøu AÝ©vUQÓx. 

(ii) The transmitter / receiver type remote I/O allows virtually 
unlimited transmission capability 

 Transmitter / receiver ÁøP ›÷©õm I/O Qmhzumh Áμ®£ØÓ 
£›©õØÓ vÓøÚ AÝ©vUQÓx. 

(iii) A unique feature of the PLC is the multiplexed nature of the 
I/O bus. 

 PLC –ß uÛzxÁ©õÚ A®\®  I/O bus–ß ©Ài¤öÍUì C¯À¦ 
BS® 

(A) (i) only (B) (i) and (ii) only 

 (i) ©mk®  (i) ©ØÖ® (ii) ©mk® 

(C) (i), (ii) and (iii) only (D) (ii) only 
 (i), (ii) ©ØÖ® (iii) ©mk®  (ii) ©mk® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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171. The following types of actuators is most commonly used in control
valve 
Pßm÷μõÀ ÁõÀÄPøÍ Pmk¨£kzu ———— AU_÷ÁmhºPÒ ö£õxÁõP 
£¯ß£kQÓx. 

(A) Pneumatic (B) Electric 

 ¡©õmiU  G»Ui›U 

(C) Manual (D) Hydraulic 
 ÷©ÝÁÀ  øíiμõ¼U 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

172. The following material is commonly used for construction of control
valve trim 
Pmk¨£õmk ÁõÀÄ i›® Aø©UP ¤ßÁ¸® ö£õ¸mPÒ £¯ß£kQßÓÚ 

(A) Stainless steel (B) Brass 

 GLS (Stainless steel)  ¤zuøÍ 

(C) Cast iron (D) Plastic 
 C¸®¦  ¤ÍõìiU 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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173. The main purpose of control valve positioner is to 
Pßm÷μõÀ ÁõÀÄPÎß {ø»¨£õmiß •UQ¯ ÷|õUP® 

(A) Improve the precision of the valve  
 ÁõÀÄ xÀ¼¯zøu ÷©®£kzxÁx 

(B) Eliminate cavitation in the valve 

 ÁõÀÄPÎß SÈ²ÖÁøu }USuÀ   

(C) Increase transmitter accuracy 
 iμõßì«mh›ß xÀ¼¯zøu AvPõ›US® 

(D) Alter the fail-safe status of the valve 
 ÁõÀÄPÎß ÷uõÀÂ²ØÓ £õxPõ¨£õÚ {ø»ø¯ ©õØÖÁx   

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

174. The following is a type of actuator in a hydraulic system 
¤ßÁ¸ÁÚÁØÔÀ JßÖ øíiμõ¼U ÁøP BU_÷Ámhº 

(A) pump (B) valve 

 £®¦  ÁõÀÄ 

(C) cylinder (D) stainer 
 ]¼shº  ìöh´Úº 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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175. One advantage of an electric to pneumatic valve positioner is  
G»Um›U k {³ö©iU ÁõÀÄ ö£õ]åÚ›ß |ßø© ¤ßÁ¸©õÖ 

(A) it can be used to flow control  
 Cx KmhU Pmk¨£õkPÎÀ £¯ß£kQÓx 

(B) it produces positive valve position 

 Cx ÷|º©øÓ ÁõÀÄ {ø»ø¯ E¸ÁõUSQÓx   

(C) it conserves energy  
 Cx BØÓø» ÷\ªUQÓx 

(D) it dampers valve travels 
 Cx ÁõÀÄ ÷h®£øμ ukUQÓx   

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

176. In analog control system the controller is made up of 
AÚ»õU Pmk¨£õmk Aø©¨¤À Pßm÷μõ»º GÁØÓõÀ BÚx 

(A) Resistors (B) Capacitors 

 ªßuøh  ªß÷uUQ 

(C) Operational amplifiers (D) All of these 
 ö\¯À£õmk ö£¸UQPÒ  CøÁ AøÚzx® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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177. The value for a process variable that is desired to be maintained is
called? 
£μõ©›UP Â¸®¦® J¸ ö\¯À•øÓ ©õÔ¼UPõÚ ©v¨¦ CÆÁõÖ 
AøÇUP¨£kQÓx. 

(A) Controller (B) Set point 

 Pmk¨£kzv  ö\m £õ°sm 

(C) Process (D) Error 
 ö\¯À•øÓ  ¤øÇ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

178. Match the following  : 
¤ßÁ¸ÁÚÁØøÓ¨ ö£õ¸zx. 
(a) Proportional (P) 1. To improve stability and decrease

steady stage error  
 ¨÷μõ÷£õåÚÀ (P)  {ø»zußø©ø¯ ÷©®£kzu ©ØÖ® ^μõÚ

{ø»¤øÇø¯ SøÓUP 
(b) Integral (I) 2. To improve system stability  
 CßmhQμÀ (I)  ]ìhzvß ìvμzußø©ø¯ ÷©®£kzu 
(c) Derivative (D) 3. To decrease the steady state error  
 öh›÷ÁiÆ (D)  ^μõÚ {ø» ¤øÇø¯ SøÓUP 
(d) Proportional  4. To change the transient behavior   
 Integral  {ø»¯ØÓ |hzøuø¯ ©õØÓ  
 Derivative(PID) 
 ¨÷μõ÷£õèÚÀ   
 CßhQμÀ öh›÷ÁiÆ     

 (a) (b) (c) (d) 
(A) 1 2 3 4     
(B) 2 3 4 1     
(C) 4 3 2 1    
(d) 3 4 2 1   
(E) Answer not known 
  Âøh öu›¯ÂÀø» 



   439-INSTRUMENT MECHANIC 
  [Turn over 

75

179. Feed forward control system is a/an 
¥m £õºÁºm Pßm÷μõÀ ]ìh® J¸ 

(A) Closed loop control system  
 ‰i¯ ÁøÍ¯ Pmk¨£õmk Aø©¨¦ 

(B) Radiation control system 

 PvºÃa_ Pmk¨£õmk Aø©¨¦ 

(C) Open loop control system  
 vÓ¢u ÁøÍ¯ Pmk¨£õmk Aø©¨¦ 

(D) Cascade control system 
 AkUS Pmk¨£õmk Aø©¨¦   

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

180. A pneumatic system uses 
J¸ {²÷©miU Aø©¨¤À £¯ß£kzxÁx 

(A) oil (B) water 

 Gsön´  uspº 

(C) air (D) current 
 PõØÖ  ªß\õμ® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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181. An ammeter is a  
J¸ A®«mhº Gß£x 

(A) recording instrument (B) absolute instrument  
 £vÄ P¸Â  •Êø©¯õÚ P¸Â 

(C) intergrating instrument  (D) secondary instrument  
 J¸[QønUS® P¸Â  Cμshõ® {ø» P¸Â 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

182. ––––––––––– meter has a linear scale. 
–––––––––– «mhº ½Û¯º AÍøÁ öPõskÒÍx 

(A) thermocouple meter (B) hot wire meter  
 öuº÷©õP¨¤Ò «mhº  íõm øÁ¯º «mhº 

(C) moving coil meter (D) moving iron meter  
 ‰Â[ Põ°À «mhº  ‰Â[ A¯ß «mhº 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

183. ––––––––––– pressure coil and ––––––––––– current coil are present 
in megger.  
ö©P›À –––––––––– ¤μåº Põ°À ©ØÖ® –––––––––– Pμsm Põ°À C¸US®.

(A) two pressure coil and one current coil  

 Cμsk ¤μì\º Põ°À ©ØÖ® J¸ Pμsm Põ°À   

(B) two pressure coil and two current coil  
 Cμsk ¤μì\º Põ°À ©ØÖ® Cμsk Pμsm Põ°À 

(C) one pressure coil and one current coil  
 J¸ ¤μì\º Põ°À ©ØÖ® J¸ Pμsm Põ°À   

(D) one pressure coil and two current coil  
 J¸ ¤μì\º Põ°À ©ØÖ® J¸ Pμsm Põ°À 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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184. The unit of torque 
hõºQß A»S 

(A) Newton (B) Joule 

 {³mhß  áúÀ 

(C) Newton meter (D) Joules/Second 
 {³mhß «mhº  áúÀ/ö\Psm 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

185. ––––––––––– force is required to move the pointer from zero position
in an indicating instrument. 
–––––––––– ÁøP¯õÚ Âø\ P¸Â°À §äâ¯zvÀ C¸¢x £õ°smhøμ 
|Pºzu ÷uøÁ¨£kQÓx. 

(A) Air friction damping (B) Eddy current damping 

 Hº L¨›Uåß ÷h®¤[  Gi Pμsm ÷h®¤[ 

(C) Deflecting force (D) Controlling force  
 i¨Íi[ Âø\  Pßm÷μõ¼[ Âø\ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

186. The sensitivity of PMMC instrument is 10 kΩ /V if this instrument 
is used in a rectifier type volt meter with half wave rectification the
sensitivity on AC  
PMMC P¸Â°ß EnºvÓß 10 kΩ /V BS® C¢u P¸Âø¯ J¸ 
öμUiLø£¯º ÁøP ÷ÁõÀm «mh›À Aøμ Aø» v¸zuzxhß 

£¯ß£kzvÚõÀ AC EnºvÓß  

(A) 10 kΩ /V (B) 22.2 kΩ /V 

(C) 4.5 kΩ /V (D) 18 kΩ /V 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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187. ––––––––––– the full form of PMMC meter. 
PMMC °ß «mh›ß •Ê ÁiÁ®  

(A) Parallel magnet moving coil meter  
 ÷£μ»À ÷©UÚm ‰Â[ Põ°À «mhº   

(B) Position magnet moving coil meter   
 ö£õ]åß ÷©UÚm ‰Â[ Põ°À «mhº 

(C) Principle magnet moving coil meter  
 ¤›ßì¤Ò ÷©UÚm ‰Â[ Põ°À «mhº   

(D) Permanent magnet moving coil meter   
 £º©öÚßm ÷©UÚm ‰Â[ Põ°À «mhº   

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

188. In an indicating instrument the deflecting torque is produced by
using the following effect 
J¸ Cßi÷Pmi[ P¸Â°À ¤ßÁ¸ÁÚÁØøÓ £¯ß£kzv Â»PÀ •ÖUS 

(torque) E¸ÁõUP¨£kQÓx 

(A) control spring (B) magnetic effect  
 Psm÷μõÀ ì¤›[  ÷©UÚiU ÂøÍÄ 

(C) damping (D) bearings  
 ÷h®¤[  ¤¯›[ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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189. Alternating current is measured by 
BÀhºöÚm Pμsm AÍUP 

(A) induction ammeter   
 CßhU\ß A®«mhº   

(B) permanent magnet type ammeter  
 £º©Úßm ÷©UÚm ÁøP A®«mhº 

(C) electrostatic ammeter  
 G»Um÷μõ ìhõiU A®«mhº   

(D) MI repulation type voltmeter   
 ‰Âì A¯ß Â»PÀ ÁøP ÷ÁõÀm «mhº 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

190. Candela is unit of 
Candela Gß£x Cuß A»S 

(A) luminous intensity (B) magnetic intensity 

 JÎ°ß Cßöhß]mi  ÷©UÚmiU Cßöhß]mi 

(C) electrical intensity (D) acoustic intensity 
 G»Um›PÀ Cßöhß]mi  J¼°ß Cßöhß]mi 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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191. —————— is the following disadvantage of PMML instrument.  
¤ßÁ¸ÁÚÁØÔÀ PMML P¸Â°ß wø© 

(A) The PMML is very delicate instrument   
 PMML BÚx ªPÄ® ö©ßø©¯õÚ P¸Â 

(B) It has a high torque to weight ratio 

 Cx AvP hõºU ©ØÖ® Gøhø¯ öPõshx 

(C) It produced low losses due to hystersis 
 Põ¢u ¤ßÚøhÂÚõÀ CøÁ SøÓ¢u AÍÄ |èhzøu E¸ÁõUS®  

(D) It does not have uniformly divide scale 
 CvÀ J÷μ ©õv›¯õÚ AÍÄ÷PõÀ ¤›ÄPÒ CÀø» 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

192. Maxwells bridge can be used for measurement of inductance with 
©õUìöÁÀ ¤›mä yshÀ AÍøÁ AÍÂh £¯ß£kQÓx 

(A) Medium Q factor (B) High Q factor 

 «i¯® Q ÷£Uhº  øí´ Q ÷£Uhº 

(C) Very low Q factor (D) Wide range of Q 
 öÁ› ÷»õ Q ÷£Uhº  øÁ´k ÷μßä Q 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

193. Hot wire instrument have 
íõm Á¯º P¸Â¯õÚx 

(A) Log scale (B) Square scale 

 »õU ì÷PÀ  ìöPõ¯º ì÷PÀ 

(C) Uniform scale (D) Non liner scale 
 ³ÛL£õº® ì÷PÀ  ÷|›¯À AÀ»õu AÍÄ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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194. In a reed type frequency meters all the reeds 
Ÿm ÁøP AvºöÁs «mh›À ŸmPÒ BÚx 

(A) Have the same natural frequency 
 A÷u C¯ØøP AvºöÁsPÐ® \©®  

(B) Have different natural frequency 

 C¯ØøP AvºöÁsoÀ ÷ÁÖ£õk EÒÍx 

(C) Have different natural frequency but the difference in natural 
frequencies of adjacent reeds is 5.0±  Hz 

 ÷ÁÖ£mh C¯ØøP AvºöÁs EÒÍx BÚõÀ \› ö\´uÀ |õn¼ß 

C¯ØøP°ß ÷ÁÖ£õk 5.0±  Hz BS®  

(D) Have different natural frequency but the difference in natural 
frequencies of adjacent reeds is 1.0±  Hz 

 ÷ÁÖ£mh C¯ØøP AvºöÁs EÒÍx BÚõÀ \› ö\´uÀ |õn¼ß 

C¯ØøP°À ÷ÁÖ£mh 1.0±  Hz BS® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

195. The algebraic total the data from the two wattmeter use in the two
wattmeter approach will only reveal the true power 
C¯ØPou ö©õzu Áõm «mhº AqS•øÓ°À Cμsk Áõm «mhº 
£¯ß£õmiÀ C¸US® uμÄ Esø©¯õÚ Áõm öÁÎ¨£kzx® 

(A) the load balance 
 ÷»õm ÷£»ßì 

(B) phase sequence remain unchanged 
 ÷£ì ]USÁßì ©õÓõ©À C¸US® 

(C) there is no source unbalance 
 G¢u ‰» \©{ø»°ßø©²® CÀø» 

(D) neutral wire available does not carry any current 
 {³mμÀ Á¯›À G¢u ªß÷Úõmh® CÀø» 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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196. A moving coil instrument can be used as an ammeter by connecting
a suitable resistance. 
J¸ ‰Â[ Põ°À P¸Âø¯ ö£õ¸zu©õÚ ªßuøhø¯ –––––––––– À 
Cøn¨£uõÀ P¸Âø¯ A®«mhμõP £¯ß£kzu»õ® 

(A) in series 
 öuõhº Cøn¨¤À 

(B) in parallel 
 Cøn Cøn¨¤À 

(C) in series – parallel  combination 
 öuõhº&£UP Tmk Cøn¨¤À 

(D) a cross another resistance 
 ©ØöÓõ¸ ªßuøhUS SÖUPõP 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

197. In a single phase power factor meter the phase different between the
current in the two pressure coil is 
][QÒ ÷£ì £ÁºL÷£Uhº «mh›À Cμsk ªßÚÊzu _¸ÒPÎÀ EÒÍ 
ªß÷Úõmh[PÐUS Cøh÷¯ EÒÍ ÷£ì ÷ÁÖ£õk 

(A) Approximately 90° (B) Exactly 90° 

 ÷uõμõ¯©õP 90°  \›¯õP 90° 

(C) Approximately 0° (D) Exactly 0° 
 ÷uõμõ¯©õP 0°  \›¯õP 0° 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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198. The household energy meter is 
ÃkPÎß E£÷¯õPzvÀ EÒÍ GÚºã «mhº 

(A) An indicating instrument (B) A recording instrument 

 Cßi÷Pmi[ Cßìm¸ö©sm  öμUPõºi[ Cßìm¸ö©sm 

(C) An integrating instrument (D) RPM counting 
 CßhQ÷μmi[ Cßìmkö©sm  Bº.¤.G®. PÄsi[ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

199. A power factor meter has —————— control spring. 
£Áº ÷£Uhº «mh›À —————— Psm÷μõÀ EÒÍx. 

(A) One (B) Two 

 JßÖ  Cμsk 

(C) Four (D) Zero 
 |õßS  ã÷μõ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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200. The following of instrument may be used to measure DC voltage
accurately  
i.] ªßÚÊzuzøu xÀ¼¯©õP AÍÂh ¤ßÁ¸® P¸Â £¯ß£kQÓx. 

(A) Induction type instrument  
 CßhU\ß ÁøP P¸Â 

(B) Moving iron type instrument 

 ‰Â[ A¯ß ÁøP P¸Â   

(C) Moving coil type instrument  
 ‰Â[ Põ°À ÁøP P¸Â  

(D) Electrodynamic type instrument 
 G»Um÷μõøhÚªU ÁøP P¸Â 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

––––––––––––––––––– 


